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1 The average price of 80 mobile phones is Rs.30,000. If the highest and lowest price
mobile phones are sold out then the average price of remaining 78 mobile phones is Rs.
29,500. The cost of the highest mobile is Rs.80,000. The cost of lowest price mobile is?
80 WiaTgel WM. HT AT Hou © 30,000 & (A% Sffean ik W o @ Wesd B 99 {33
S E A A9 78 HIGEA BT BT AGd Hed ¥ 29,500 B I € | IFTH o W RQew g
aréqﬁ'errsa&?rmaﬁao,ooo%lﬁﬁaﬁqmwﬁ@ﬁﬁmmw@aﬁﬁqﬁm

grfi? P
P
(A) Rs. 18000 (B) Rs. 15000 48
(C) Rs. 19000 (D)  Can't be determined/Mf¥em =&l wr W
2 In a Company the average income of all the empioyees is Rs. 20000 per month.

Recently the company announced increment of Rs. 2000 per month for ail the employees.
The new average income of all the employees is?/ T& Hu-l 4 T4 FHHAIRA @) AEd g
fty #ET % 20,000 B | BTG & A B ¥ W 2000 URy e @ gfa, o wHaRal @ oma #
T BT B 2 | W FEeRE @ 78 offwd T 2

(A)  Rs. 1,22000 (B)  Rs. 24000 (C) Rs.28000 (D) Rs. 26000

3 Pranav went to the bank at the speed of 60 km/h while returning for his home he
covered thé half of the distance at the speed of 10 km/h, but suddenly he realised that he
was getting late so he increased the speed and reached the home by covering rest half of
the distance at the speed of 30 km/h. The average speed of the Pranav in the whole
length of journey is? Jora 4% 60 fadl /el & s R TA1 of fbg &) IRl & WA 99
el T 10 fF /der & iy R T | SEe S9 @ 5 98 ofc & W8T o7 dl S9H AT
wWis dor8 3R arl w9 g3 g1 98 30 fw1/Her & T ¥ 99 $d g¢ R Ugd W | [
qrEr # uorg @ g TRy @ ofi?

(A) 24 kmih/24 &4, ufy ger (B) 14 km/h/14 f&=. ofer g
(C) 16 km/h/16 &t wfe ger (D) 10 km/h/10 fa. gfer et
4. The average expenditure of Mr. Sharma for the January to June is Rs. 4200 and he

spent Rs. 1200 in January and Rs.1500 in July. The average expenditure for the months
of February to July is? orafell &1 wi=a@l & o @& & ofivd @al ® 4200 & 3R a8 & 1200
TGN # iR 1500 s § FF YT B | Gad § Gong ab d qEH b A @t 87

(A) Rs. 2750 (B) Rs. 3250 (C) Rs. 4250 (D) Rs. 4500
5: At the end of a business conference the ten people present all shake hands with

each other once. How many handshakes will there be altogether? T& =R F9e & 37
#, Sufterd @il 10 @fed U R 9 e a} &R e 81 o femer a8l fean ar g

foremy Wiy &? _
(Ay 20 (B) 45 (C) 55 (D) 90
6. The average presence of students of a class in a College on Monday, Tuesday and

Wednesday is 32 and on the Wednesday, Thursday, Friday and Saturday is 30. If the
average number of students on all the six days is 26 then the number of students who
attended the class on Wednesday is? WMaR, Felar 3R qUaR &7 Fem # el
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Wﬁﬁ&ﬁﬂﬁszmgﬂm rﬂ'(c( PR JaT X &3] 30 ,|ﬁ[g]mq4ﬂ8—gﬁa
ﬁarﬁﬁaﬁsﬁﬂ#mze%#rgmwﬁﬁﬂéammF—‘Tmﬁm@ﬂ‘{m‘mm?

(A) 50 - B) 40 ©) 60 (@) 70

e spsed of 40 km/h and
i from Q2 to R. Then
speed of the whole

3. &% 7. Suresh started his journey from P t
an then, the same distance he travelled on
;}9€‘° he returned from R to P via O at the

22 trip is: X A AP F Q T AT T 2 SR
R e g as e 10 . ofa wer @1 i GFRopTEIA R | AR TER Y
i P, Q3 I 24 5. ufa g o oy & aroddl owar § 1 o @ o o iy & -
JA)  185kmh  (B) 198km/h  (C) 182kmh (B)  18.2km/h 22
\ox?
(,0* 8. Ramesh walked 6 km to reach the siation from his house, then he boarded a train
;é whose average speed was 60 knvh and ihus he reached his destination. in this way he

L~ took a total time of 3 hours. If the averags speed of the entire joumey was 32 km/h then
the average speed of walking is: THIT 37T &R ﬂ WA TF Tga & %Q 6 foHr. Yoot Tremar
w8, R T8 @ @ ¥ 9% W v R s afy so Bl o der 3 ok 98 el i
9—/-,, A P UgE. WIdT & | §9 YR U I8 & 3] e B | afE g g @
% aﬁmnﬁszfﬁsﬁuﬁfmeﬁauﬁﬁ

(A)f ' 5,km/h (B) 8kmh {C) 2kmih () 4 km/h

:9. ' Bala fr'avels first one-third of the i w‘ the next

one-third distance at the speed of 20 ki s at the speed
% of 60 km/h. What is the average soe: Y T Frs'r?, 10

& ufy ger @ afg ¥ siR arrel Tw
fores 60 bl wifer wer @1 fy  au @ @ Bl el Tk
(,“fbw (A) 18 km/h _ (B) 19km/h (&) 6 lgnft (&) 12 km/h

H'W 10 - The distance of the School and hicuse of Suresh is 80 km. One day he was late by
1 hour than the normai time to leave for the coliege, so he sased his speed by 4km/h
_and thus he reached to college at the normal time. What is ihe changed speed of Suresh?
D% WU B g ok = & §i9-3 gt so B2 | % & o% foere oM @ U BR B
Bz & WHE W W TP HET o o7 a1 SE S R 4 fd, oftr Her 9 °Y ¥ 9o ek Ty
‘%7; e 98 ARt YN WM WF W UEd 41| W o g9 g iy wmw o
:\Go"’@ _(A) .28 kmlh (B)_ 25 km/h {C) 20 km/h (D) 24 km/h
ks 11, Anita goes to Co|lege at 20 kmi/h and reach 4 minuies late. Next time she
*\\e‘* goes at 25 km/h and reaches the college 2 minuiss e: an the scheduled time. What
R is the distance of her school? 2T wiera 20 f‘é‘ G ger & TRy ¥ wew 4 fFe de
IETl B | SFTEN AR 9% 25 f. ufty wer @ ity 9 W FeiRe w2 fee o ugEd
2| SUD Pl B g Far & 7

(A) 16 km B) 12km (C) A8 km ()Y 10 km

(‘:

de. AT s . Yy oy ax W
j0 x4t Y o 2y 1o
we R %, gaq o Qe ediyad
| ki o2 2 Ay | |

| ' "'
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12.  Two places R and S are 800 km apart from each other. Two persons start from R
towards S at an interval of 2 hours. Whereas A leaves R for S before B. The speeds of A
and B are 40 km/h and 60 km/h respectively. B overtakes A at M, which is on the way from
Rto S. What is the ratio of time taken by A and B to meet at M? <1 @I R 3R S t@ g@
W 800 fodfr gx & | & @fed R € S &1 iR o & forw a1 & & siovrar & 7% B &
Safh A, S § uBd R & forg fswerar &1 A ol B 21 & Ry @wer 40 3R 60 b1 ufy wer
FIBMRAJI Fod Tiar &, Sl B RA S S T W | MR fied & Riw A aik
B f&a srguma & W o 87

(A) 13 By 1:2 (C) 14 (D) 32

13. Two places R and S are 800 km apart from each other. Two persons start from R
towards S at an interval of 2 hours. Whereas A leaves R for S before B. The speeds of A
and B are 40 km/h and 60 km/h respectively. B overtakes A at M, which is on the way from
Rto S. What is the distance from R, where B overtakes A? &1 w9 R alv S wa T |
800 fafl q¥ 2 | & @ R & S =1 9k <1 U & ofrel ¥ qH b & | WA A R B
ferg, S & B @ forg Moem A usal Praerr 21 A ik B O @ 1R @wer 40 3R 60 ).
/HCTRIB, MWRA 9 Fied Gram &, P RAS & g w2 | % W B, A Y 3m

& e omem 2, a8 R 9 fhadl g0 w22
5 (A) 260 km (B) 235 km (C) 240 km (D) 300 km .

14.  Ajay covers certain distance with his own speed but when he reduces his speed by
10km/h, his time duration for the journey increases by 40 hours while if, he increases his
speed by 5 km/h from his original speed, he takes 10 hours less than the original time
taken. Find the distance covered by him. s/ U@ e @ Al 7y & @ awar & 0
T g8 U A W 10 Rl der @ T o & A 9w ann @ weanhy 40 62 98 o)
%.Wﬁwﬁﬁﬁaﬁmﬂﬁﬁsﬁmﬂ/ﬁam%mwaﬁrqﬁm
¥ 10 T B O ¥ | IWD GRT A B TS 8 qIg? - : o

(A) 1000 km 5 - (B) 1200 km fit (C) 1500 km fr (D)1800kmﬁv"ﬂ.

15.  The driver of an ambulance sees a bus 40 m ahead of him, after 20 seconds, the bus
is 60 meter behind. If the speed of the ambulance is 30 km/h (f& / =er), what is the speed
of the bus? T& Tgeld P dTefd AT ST ST & a¥ Bl 40 MR AT Jwal 8, 20 ¥s & a1
FH 99D 60 Wex I8 exf &1 Al vgerw o Wil 30 Rl /wier & of o &Y TRy TaTe? :

(A  10km/h  (B) 12km/h (C) 15 kmth (D) 22 km/h

16.  Two rabbits start running towards each other, one from A to B and another from B
to A. They cross each other after one hour and the first rabbit reaches B, 5/6 hour before.
the second rabbit reaches A. If the distance between A and B is 50 km, what is the speed
of the slower rabbit? <1 @Y TF TER # 3R g @ 1 16 AW B @ ik ok qaw B9
Aﬁmlﬁﬁw@%ﬁwﬁémwm‘%aﬁ?mmem@%AW
UgTT ¥ 5/6 ©el Ugcl UgaqT & AR A 3R B @ 4= 3 g@ 50 oM, ¥ A oy Wy A

TR A Ay @ar gef?
(A)  20km/h (B) 10 km/h (C) 15 km/h (D) 25 km/h
we¥
e
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17.  Pranav walked at 5 km/h for certain part of the journey and then he took an auto for
the remaining part of the journey traveliing at 25 km/h. If he took 10 hours for the entire
journey, what part of journey did he travelled by auto if the average speed of the entire
joumeybe17km/h?mm$wﬁﬁaama?ﬁ5%@.%%@@%%%
3 3R R 98 9 I @ farw 25 R ufy wer @ T & U offer Raen dar €| Al 98 70
T @ forg 10 H o &, o g @1 faeer AT Sae sifeY Rawn # @ fhan, aft b amr #

1
aivwra Ty 17 R /e 82 g7
‘I/
(A) 750 km (B) 100 km (C) 150 km (D) 200 km B
sk "
18. 5,12,7,41, 87,214
L7
(A) 19 (B) 35 C) 22 D) 26
19. 14, ?,13,17.5,21.75 i
(A) 10 (B) 12 (C) 125 ©) 1325 et
il
20. 15,5,45,58,7.9,7
(A) 9.6 (B) 11.42 (C) 1223 (D) 10.74
21 Find the sum of first 30 natural numbers T2 30 Ida SIS $T AN qese?
(A) 470 _(B) 468 (C) 465 (D) 463 " {(: A
: g . , \o
22, 56% of Y is 182. What is Y? Y &T 56% 182 & |.al Y @1 &7 W
(A) 350 ° (B) 364 (C) 325 (D) 330 C %Cx o
; 1
23, Which of the following two ratios is greater 17:18 and 10:11? < argumaf 17:18 3k .
10411 § & B 9T &7 lw,uq
(A) 17/18 : (8) 10/11 o™ B 2 S
(C) . Both are same Ml ge W € (D) - Cannot determine ffdad =8 a= ;«6:;(%

24.  In a palace, supplies are available for 35 days for only 75 people. 15 Guests'arrive
in the palace for vacation on day 1 itself. For how many days will these supplies be
sufficient for all these people? T& I W Bae 75 @fedal @ foy 35 37 @& amyfd Suere
2| 99 W R e @ fay, usel A € 15 Sy on s § | fee RAT & fore e smgfd
37 ot afeadl & forg gaia e i?

(A) 90days fa7 (B) 11.25days fas (C) 42days R (D) 22.5days &=

'35, - If difference between Compound Interest & Simple Interest on a certain sum of
money for 2 yrs. @ 5% p.a. is Rs.122. Find the sum? afz <1 adi & forg, v FRea
SRIR WY 5% Wy wdqiy AR WERU &5 $ | BT SR B 122 B, A1 oI B uar

TG ?
(A) Rs.14000 (B) Rs. 15000 (C) Rs.16000 (D) Rs. 17000
— 4
1G9 J i3] 94 Wed 85 B
9 \& /;Lz ?’c’ ¥
% .-

jpa X4 f ﬁ«)?* e

Q\ \4 Qo L
?': 2

%
\la /)0 ,&’x( ;L Ll'),”l,ao
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26. 2017 India-ASEAN Youth Summit was held from 14th — 19th August, 2017 in:
14 — 19 31T 2017 &1 IRA—IMRAF a1 FReE Her AT f35ar T o917 -
(A) New Delhi 73 faeell  (B) Mumbai s (C) Bhopal siarer (D) Chennai o=13

27.  Under project ‘Navika Sagar Parikrama’, which will commence in September 2017,
a team of women officers of the Indian Navy would circumnavigate the globe on an Indian-

built sail boat named: RidaR 2017 ¥ ey, W@ TR WReTr B g, AT B AR
SRBIRAY & v W 5 v & womet @1 Rew, few Tra BT Tomm 3 @7

(A)INSV Durga i (B) INSV Sindhu Ry (C) INSV Amba a1 (D) INSV Tarini aiiRefl

28.  On August 18, 2017, which Asian country launched its first cyber court specializing:
in handling Internet-related cases? 18 37, 2017 &I, fog TRRE o ¥ gexve del qm'g

DI GersIF B o ST Ul WIgeR e omed gy 87
A) Japan W9 (B) China M (C) South Korea w1 ®1Rem  (D)Thailand oiddle

29.  On August 18, 2017, Power Grid Corporation announced that it will get a loan of
$500 million from which international financial institution for its various projects? 18 31T,
2017 1 IR firs FRe 7 fow siokisfiy e wRem 4 swe Rfts gRaEl @ e 500
3RY STeR &1 0T e & wiwom &)

(A) Asian Development Bank TR Saemiic ¥5 (B) World Bank Rer 3% e
(C) Intemational Monetary Fund Sirisira gs7 e (D) New Development Bank =] Saawie $&

30. Who among the following cricketer has continued to be the world’s top-ranked One-.
day batsman in the latest ICC QDI rankings, released in Dubai on August 18, 2017? 18
T, 2017 FI o8 4 W) e ong o ¥ vo Ry okt W F Fr § @ B o
e Raars! wated w9 W a1 gan 27

(A) ViratKohli R reeh (B) David Wamer ~3ffe
(C) ABDe Villiers T 91 5 faferasf (D) Joe Root W HE

31 Who among the following has won 2 silver medal in'the javelin throw at the first World
Para Athletics Junior Championships in Notiwil, Switzerland? =efier, Racorers. 3 g ygeh
e R gerefeas SFvaR SR i e < ey e S 1 AR ¥ Yo Tew o ?

(A)  Prince Ahuja 1 srgsT (B) . Jatinder Singhﬁﬁ‘cﬂ’ fiz
(C)  Prakash Jaishankar T&mer Sawiax (D) - Rinku Hooda R gger

32. ‘Requisitioning & Acquisition of Immovable Property (Amendment) Bill, 2017’, a bill
providing for amendment to the regulaiions governing compensation amount payable at'
the time of acquisition of immovable property by the central government was introduced in
the Lok Sabha on July 18, 2017. This bill is an amendment fo the original act that came
into force in: ¥ ¥ ¥ 18 Salls, 2017 T "I TuRa @ R wane YT 2017 @
g B WRHR & e WU @ R @ W genast B 39 Yod AR @ Gaee $
raen= f&ar wrar | gE g qe et A e gevE £ S yue § ey o

(A) 1952 (B) 1951 (C) 1950 (D) 1949

| { \ 7
;

& Leao

=l
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33. A bill providing for setting up of the Indian Institute of Petroleum and Energy in
was introduced in the Lok Sabha on July 18, 2017. Sar$ 18, 2017 o1
ST | IR Ugiferm iR Gl e, # enftd av & fog g far

T ur? :
(A) Punjab tsirg (B) Haryana eRamor
(C)Telangana T AT (D) Andhra Pradesh arier yeyr

34.  The best example of the extinction of species due to man's intervention is g

BRI B SRV, YR B R 85 o1 waw 991 9erEy &

(A)  Kiwi B4 : (B) Dodo Erer

(C)  Przewalski's horse gaereast rer (D) Bustard TS

35.  Which of following utilises sunlight in a direct fashion? &7 % W a1 W B g By

A AT FRA H B sy 82

(A)  Photo voltaic cell ~ yamr @it ¥ir  (B)  Solar thermal cells ¥ &1 e

(C) Bio gas production Sig 39 I@res (D) BothAXBTHI A&B

36.In ‘Internet’ term WWWW, the 4™ W stands for 237 wrerach 3 WWWW, § 2ot W <
®I A §?

(A)  Web (B) Worm (C) Wreck (D) Wsijk

37.  IPv6 addresses have asize of:  IPv6 udi @7 wiEgw &
(A) 64 bits (B) 128bits  (C) 256 bits (D) 512 bits

38.  The Constitution of India recognises: ¥Ry W wr=rer <aqr & .

(A)  Only religious minorities dact enfie sreqwe®)

(B)  Only linguistic minorities ®ac iffe scqawere) &)

(€)  Religious and Linguistic minorities &1 sk =fie acusers o

(D) Religious, Linguistic & Ethnic minorities =fia, wie el R seadeErst @
N

39. During which of the following Mughal Emperor’s rule, number of Hindus employed
by Emperor's Administration was the highest? farg el WEF B AITDIA D P
TR g1 siferbad f{gal &7 Ao fRar mar ar

(A)  Humayun g1y (B)  Akbar 3r@a
(C) Shahjahan smgvTet (D)  Aurangzeb 3o

40.  The Mansabdari system introduced by Akbar was borrowed from the system
followed in/3fdaR ERT g% o T “HAGaET Yo o wE off

(A)  Afghanistan rEmfReam (B) Turkey gt
(C)  Mongolia Hiferar (D) Persia yf¥fn

REelHal’'s cLasses LearN & Lead
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|

41.

Who among the following is said to have witnessed the reigns of eight Delhi

Sultans? %1 # ¥ v faeeh @ offs YordHT & Hea=a &1 Wl Fer o 87

(A) Ziauddin Barani fSaregdm a1 (B) Shams-i-Siraj Afif IRI—3—RRIT HIH
(C) Minhaj-us-Siraj fAsra—sw—RRTs (D) Amir Khusrau 3R TRy

42,

The President of India referred the Ayodhya issue to the Supreme Court under

which Article? ¥Ra @& WUl 5 sl faare @) fbw aw®e @ sifa wRdm ThF #1E &
AT o7 ? :

(A)

43,

143 (B) 132 (C) 138 (D) 136
Right to privacy as a Fundamental Right is implied in Tﬁq'rﬁ”aaT B JAHR vF HAifers

PR & Wy § 3pef ar &

(A)
(B)
(C)
(D)

Right to Freedom @@= &7 aifreR

Right to Life & Personal Liberty S 3R i T m AfaR
Right to Equality H1=dT &7 3ifeR

Right against Exploitation #yor & fawg aifrer

The interval between two sessions of parliament must not exceed & @ 2 g3l &

sﬂammwﬁa&maﬁtﬂmﬁu’

(A)
45.

3 months #T@ (B) 6 months g (C) 4 months HIE (D) 100 days f&=
With reference to inflation in india, which of the followmg statements is correct?

ARG H ARG & el #, ﬁﬂmamﬁﬁﬁﬂmmmm%?

(A)
(B)
(©)

(D)

46.

Controlling the inflation in India is the responS|b|||ty of the Government of India only
Wﬁﬂmmﬁmwww?ﬁm%j w
The Reserve Bank of India has no role in controlllng‘the inflation Rord ¥ ans
SR @ HE1 WY B Frafa ae #F B e T

Decreased money circulation helps, in controlling the inflation aed ﬂ’cﬂ WUI -
qarmifd B R s & '

Increased money circulation helps in controlling the inflation dgar 331‘ ?Td'\ml

TR B Fafa awar @

Which of the following brings out ‘thé ‘Constimer Price Index Number for Industrial

Workers'? =1 & 91 #1 ‘siteifias sifael & forg st e i’ @ & ?

(A)
(B)
(C)
(D)

47.

(A)
©

The Reserve Bank of India Ruid §& sifs gfear

The Department of Economic Affairs a3 ameli &1 fum

The Labour Bureau #fA@ =31

The Department of Personnel and Training Eﬁrﬁﬁ'cﬁ wd Hf%I&WT feprT

‘Golden Revolution’ is related to WV? FIfy wafd &

Precious minerals W g (B) Pulses 3ot
Jute T (D)  Horticulture ITTaT

-
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48. A country is said to be in a debt trap if T& < B FU & T F B HET AT & T

(A) It has to abide by the conditionalities imposed by the International Monetary Fund
T8 ARSI qa1 B g1 wArdl ufddeli &1 J9 @ forw ary @

(B) It has to borrow to make interest payments on outstanding loans 9 ST 0T &1
e e @ g SuR e

(C) It has been refused loans or aid by creditors abroad fi¥l @=&Rl gRT 7T 3R He
& forg A foan &1 ga @

(D) The World Bank charges a very high rate of interest on outstanding & new loans
fawa ¥ =7 3R FHEM FON R 95T HA R R AT Y ©

49.  With respect to GST, consider following statements GST & ¥iay 3 fAm= @oFl W fdaR &

Reduces cascading effect @mud gH/d &1 &H &l © |

Is a comprehensive indirect tax I8 T 3UcIE AUH DY g

Aimed at forging a common domestic market 3T ERe] 9IGIR T JIR A BT #&F &
Alcohol and petroleum are exempted from GST AfexT 3iR Ugia &I GST H 8¢ Ura

(A) 1,2, 3 correct §&l & (B) 2, 3 correct wa! 2
(C) 2,3,4correct Wal & (D) All the above are correct ¥+t | &

bl e

50. India’s current account deficit in Balance of Trade is mainly due to YRA @ ATIRIKR
e AR frafd @ o qou &1 R § THA oWl 11 BT & BRI

(a) Increasing imports of oil and petroleum I 3R Igiferaa & amama § gfg
(b) Increasing imports of gold and silver 17 3ik =il @ smard & 9fE

(c) Increasing imports of food grains @TE AN & AT d

(d) Increasing imports of irén and steel &g iR gwTT & amara # gy

(A) (a)()and(c) () (a)and (c)
(C) (a)and (b) (D) (a)and (d)
2 Find the minimum number of straight lines required to make the given figure.

S fg T YA B A B R S R W ol o e
(A) 16 B) 17 (C) 18 (D) 19

= P e
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52, Which of the following figures best depicts the relationship among criminals,
thievesandjudges?ﬁﬁfﬁa’fﬁﬁsm‘v’lﬁu‘r, %WW%@?WW@?W
. Hyar 87

G
© ©° Oooe

(a) (b) (c) (d)
(A) a (B) .. b Q). .¢ (D) d
53. Find the number ‘E)f triangles in the given figure:

SR Y T Yy A AT qaTgY?
(A) 18 (B) 20 (C) 24 (D) 27

54. Of the following two statements, both of which cannot be true but both can also be =~
false. Which are these two statements? = a1 Byt o |, 2w vy T & e
?w@ﬁmﬁﬁ%%r@ﬁmméﬁ? S S f

(sl

<

I. All machines make noise W A wR Ry § o

II. Some machines are noisy BB T AR Py § - i
1. No machine makes noise B3 W 7 viR T8 B &<

IV. Some machines are not noisy B 7 R = TNl g«

(A)I &1 (B) &IV ©) 1&1 D) 1l &IV

55.  Insert arithmeticai signs in the equétion for it to be correct 84 2 = 16. v
842=16Wﬁmwa?rﬂ€raﬂ#$%qﬁmﬁﬁﬁmmﬁmﬁ%‘tiﬁwﬁﬁ%mm?;
(A)  +x (B) -+ € ++ B} %% or

%6. I3 84x13=8, 37x13=6, 26x11=6, then =¥ S6x22=7

(A) 3 B) 5 € 7 O) 9
17)['b % \'[‘ 2 %
\7(,> g 5‘
o o
7
10

[ & LeabD
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57.  If + means divide, x means —, + means multiply and — means plus, then find the

value of 9+3+4-8x2 afS + @1 sref fAwIeH, x &7 aref -, = B aref o 3R — 7 aef SieAr @ Ak

ar 9+3+4-8x2 q_y8-2 /"ﬁ%‘u,g_i 124¢-2 1@ }\v;“

A) 15 @ 17 ) 18 D) 20 i )
58.  Find the next term of the sequence 1, 8, 4, 27, 9, ... 5 39 g I arel e
3Tl AT HT Al ATIg? o%

() 8 ® 9 (© 64 © 16 232" v

59.  David divides 78 by half and adds 11. What number he gets at the end? sfie 78 &7 WO \2
S W HFT IR 11 S &, @ 37T ¥ g s G T W WA
(A) 50 (B) 44% () 167 (D) 83%

60. In a knockout football competition 23 teams participated. What was the least
number of matches they needed to play to decide the winner? T “Hfp—aige” EeEdre
gfeaifirar # 23 &4 9w for | &7 0 B Rorm a1 frefa 39 @ fore o9 W oW fras iy

o g9 ? b
. 8
(A) 1 (B) 21 (C) 22 (D) 62 B

61. At half past 5 in the evening, the smaller angle between the hour & minute hands of 2%

aclockis‘ﬂmﬁs.aoaﬁ?,aé’ra?déaﬂ?ﬁ%iﬁm?%%ﬁﬂwﬁamﬁﬁmgf T
(A) 10° (B) 12° (c)y 15° (D) 18° * o
62. Fill in the bI»anks'ﬁaﬁ AT Ry : BA_BA_BAC_ACB_CBAC

(A} AACB . (B) BBCA - . (C) CCBA (D) CBAC

63. Angles of a given triangle are in the ratio of 2:3:4. What kifid of triangle is the given

triangle?f&qwﬁaﬁwﬁﬁvﬁmmzzsu & | faam T feor few weR & S 22

(A) Right-angled @O . - " (B) Obtuse angle aift/d oy

(C)  Isosceles wfgarg @y - (D) Acute angle- =T B

64.  The houses of A and B face each other on a road going north-south, A's being on
the western side. A ‘comes out of his house, turns left, travels 5 km, turns right, travels 5
km to the front of D’s house. B does exactly the same and reaches the front of C's house.
In this context, which one of the following statements is correct? A 3R B & v ger—
af%w'a%mmgéwmﬁwa@%a%wﬁﬂmﬁﬁmﬁﬁmﬁAqu@maﬁ
3R B xAmmﬁwm%.mwé,s%ﬁr.ﬁwm%mm%ﬁhDﬁ
X @ UEA ad 5 fbd @t umr eear £ BWW@W%WC%W%WW@'?
ST 8 | 3 uSd d B o e w27

(A)  CandD live on the same street. C 3l D 1% & wew e vad §

(B)  C's house faces south. C &1 =x gfRon &

(C)  Houses of C & D are less than 20 km apart. C 3k D & T 20 fard & BH G R
(D)  None of the above Swiad & & &1 =&

‘ gy b g
B (8 N e o

i
H° AL | |
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57.  If + means divide, x means —, + means multiply and — means plus, then find the

value of 9+3+4-8x2 fe + BT a1ef frer, x @7 aref -, « @7 apef O 3R — 7 32l v &

a1 9+3+4-8x2 33, y3-2 e AR B >t;f{

(A) 15 (B)% 17 (C) 18 (D) 20 o 6
58.  Find the next term of the sequence 1, 8, 4, 27, 9, .... ™ o9 e ¥ o/ gy o
STl WA BT YT TG o,

A) 8 ®) 9 € 64 D) 16 28> > Y9

59.  David divides 78 by half and adds 11. What number he gets at the end? Sfis 78 &1 WD \3
ST 9T B 11 S &, W i F T 3w amy? W WA
(A) 50 (B) 44% C) 167 (D) 83% 5}’»
60. In a knockout football competition 23 teams participated. What was the least (B4

number of matches they needed to play to decide the winner? U& “Sip—arec” pedre
uferafrar ® 23 &4i = a7 forr | &7 <A1 @Y RSt &1 Fioly oF @ e o8 W e ey i

il {

o U - | %{

(A) 11 (B) 21 (C) 22 (D) 62 w)“
\

61. At half past 5 in the evening, the smaller angle between the hour & minute hands of 2%

aclock is ¥ 1 530 a9, BT & T AR Pe & Wict €9 BT BreT B S B Lo

3

Ay 10° (B) 12° (c)y 15° (D) 18° ge

62.  Fillin the _bn_anksﬁaa W 4R BA_BA_BAC_ACB_CBAC

(A). AACB . . (B) BBCA - - (C) CCBA (D) CBAC

63.  Angles of a given triangle are in the ratio of 2:3:4. What kifid of triangle is the given

triangle? feQ v BT # P B1.HTIT 2:3:4-8 | 1 71 Bypror 5w yoR @1 B 27

(A) Right-angled 50T : " (B) Obtuse angle af® @0
(C) Isosceles wHfgaTg Bior - (D) Acuteangle =g oy

64.  The houses of A and B face each other on a road going north-south, A’s being on
the western side. A comes out of his house, tumns left, travels 5 km, turns right, travels 5
km to the front of D's house. B does exactly the same and reaches the front of C's house.
In this context, which one of the following statements is correct? A 3k B & =% I&R~
Ef@fmﬁaﬁvaﬁgéwmﬁw@%fﬁmﬂmﬁﬁ%%‘WAmwmaﬁ
IR 2 lAarq#mﬁamsnmamgsm%‘,sﬁ?#r.aﬁwm%‘.masm%sﬂvbé
TR P HEH dH 5 aﬂwwr%wﬁaﬁéwﬁrm%aﬁ?Czﬁm%Wuga
ST E | E6 e H R A W @ e wd 87

(A)  CandD live on the same street. C 3R D 1% & Wes w s &

(B)  C's house faces south. C &1 =R afomyz 2

(C)  Houses of C & D are less than 20 km apart. C 3k D @& B% 20 5 & WWE
(D)  None of the above Iwia & § BIF 78

- Q
bRy
,*}o \L A
& \( ./ hi)ﬂ A
! ﬂ B ¥+ -‘(\q
31° TS

l' : ; e

REelHalU's CLasses LearN & Lead



REHAU'S cLas5es

LearN & LeaD

65. BEH, DGJ, (?), EJO, GLQ, INS, ?

(A) FLR (B) FIS (C) FKO (D) FIL

6. HV.GTFREPD

(A) KL (B) D,N © CD (D) LK

67. 43:10::8:7?

(A) 10 (B) 13 c) 17 (D) 14

68 If TOUR is written as 1234, CLEAR is written as 56784 and SPARE is written

as'90847, find the code for CARE af TOUR &7 1234 for@r wiran &, CLEAR @7 56784 forem
AT & 3R SPARE &7 90847 forar oirar & @ CARE &1 &€ ual & ?

(A) 1247 4847

69.

(B)

(C) 5247 (D) 5847

CALANDER is coded in a code as CLANAEDR. Find the code for CIRCULAR

under the same rule. Widfd®w w9 # CALANDER &I CLANAEDR forar wmar 2 | it

fETgER CIRCULAR &1 ferar \rgm:

(A) LACANDER (B) CRIUCALR
(C) CLANADER (D) None of these SWRiad # 4 B =&
70.  (a) Either he is happy or he is poor. T @1 98 ¥ & I7 98 TR & | s {;
(b) He is happy. a8 g% 2 | 0 )
Inference : He is poor. A : 98 T4 & | N2 oY
g, LUt o
(A) The inference is definitely true 3rFF qofca: e & £ p % Jpr. &
(B) The inference is definitely false /R Yoiaa: S 2 p>\ fu -
(C) The inference is probably false or true I THIT: 3T AT T & > %>< & .
(D) The inference can not be drawn A =€l fAdTen T Haar & Ree

71.

(b) Hard working people are honest #&d! @I $a9ER & 2 |

Inference: Hard work is the necessary quality of a good teacher.

A : T U 0 P BT MEaed YT B |

(a) Those who are honest are good teachers. &I $1MeR B &, df 3@@(&7 g E|

(A)  The inference is definitely true M qofda: Wy 2

(B) The inference is definitely false s/ a1 gofas: sy &

(C) The inference is probably false or true A HHId: JF a7 Td ©

(D)  The inference can not be drawn AT &l fdTer o AHar §

72. Based on the following statements, which is the correct conclusion drawn.

Aferfed Tl R @ AR W) B9 a1 98 ey Fea @ amar 27

Only gentlemen can become members of the club. Many of the members of the club are

officers. Some of the officers have been invited for dinner. dda Fou

F9 B Te

99 FHhd ¢ | AR O B 9 IER ¥ | g MR B Iy 9 w amEta fear

ST 8

(A) All the members of the club have been invited for dinner @@ & Wit el &1 AN

12
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A WR Al fear war @

(B) Some of the officers are not gentlemen %B JIRFRY 0T Aol Tou & & L~

(C) All gentlemen are members of the club ¥} TSl oY dod & FawR &

(D) Only gentlemen have been invited for dinner @aa Fwul= o8 B I W19 W g v
far Ty 2

73.  In afamily there are husband, wife, two sons and two daughters. All the ladies were
invited to a dinner. Both sons went out to play. Husband did not return from office. Who
was at home? U% IRaR ¥ 9fdt, 7ef, <1 g3 @ik & g & | @ AR e utMEw €@
It off | 1 g R Wed T O | Uiy Frter & wler A8 o | B’ W B or?

(A)  Only wife was at home &7 efl BX ¢ of) o
(B)  All ladies were at home 1 Afgelt &R R off

(C)  Only sons were at home @Jel 73 &% W 9

(D)  Nobody was at home &% U= ®'g =&l o

74. If A is the son of Q, Q and Y are sisters, Z is the mother of Y, P is the son of Z, then
which of the foliowing statements is correct? af@ A, Q & Ja1 &, Q ok Y a1 & Y& #i 2
8 P,Z® 93 & al A # @ B @ s 98 87

(A) P is maternal uncle of A; P, A &1 aFTT & (ByP and Y are sisters; P3iR Y 984 &
(C) A and P are cousins; A3k P gk W€ € (D) None of the above; g% & ®I1g &

75.  There are 5 books A, B, C, D & E placed on a table. If A is placed below E, C is

placed above D, B is piaced below A and D is placed above E, then which of the following

books touches the surface of the table? T&% ¥w1 W 5 q&ia v&l 7E & A A B E B N ¥
wm%.caﬁoa‘»wwm%,BaﬁA%:ﬁ?ﬁwm%DqﬁE%wW oY
R B EE A B A B e e @ 2 _ - @ ~@
(A) C B B © A () E 1

b e

76.  ‘To decamp’ would mean: » ) ~ %
(A)  Toremove tent A (B)  To evict campers k
(C) Todecrease pressure (D) Toleave suddenly € _
77.  Which pair is wrongly matched? . E . b
(A) Discreet : Separate (B) Gamut: Whole 9
(C) Exacerbated : Increased (D)  Allude :Escape T
78.  ldentify the correct pair:
(A) . Elude : Dodge (B) .Aliude : Escape
(C) Forbear (D) Latter : Afterwards
79. A devil's advocate would be:
(A) An evil person (B) A counter argument presenter
(C)  Advocate of a criminal (D) Unregistered advocate
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80. Satish heard it from the horse’s mouth means:

(A)  From an authoritative source (B) From a close friend
(C)  From the closest family member (D) From his boss

81.  Satish is seated Sunita. :

(A) Besides (B) Beside (C) Clearly (D) Closest
82,  ldeniify the incorrect pair:

(A) Moot :Debatable (B) Singularly : Individually

(C)  Regimen : Prescription (D) Sever : Detach

83. 'l haven't studied a lot lately'. Here, ‘lately’ is a/an

(A)  Adverb (B) Adjective (C) Noun (D) Preposition

84,  Which sentence of following is correct?

(A) The flowers was arranged carefully. (B) - The meeting start promptiy at 1100.
(C) Computers save time. (D)  Lightning strike indiscriminately.

85. ldentify the incorrect sentence:

(A) None of the minutes was wasted.
(B) None of the time was wasted. -
{(C) Is any of the pizza left?

(D) None of the above.

8.  Among the two statements:

(i) Either Satish or Sejal takes out the garbage .. o i a7 U o e
(ii) Each of these prescriptions have side effects. Ry oy 3

(A)  Both are correct s (BY (iyi is correct (iiyi is' incorrect
(C) (i) is incorrect, (ii) is correct (D), Both are incorrect.

87. Choose the sentence that has incorrect form of words: .o

(A)  When will you bring you're pictures to work?
(8) Itis your responsibility to go into details.

(C) If you're planning to attend, do let me know
(D)  None of above.

88. | her speak on Friday night about the advantages of orgamc gardenlng
(A)  will have heard - (B) would hear "= : Lo
(C) would have heard (D) will hear

89.  Choose an incorrect/incomplete sentence:

(A)  The children in the park, including all those on the swings.
(B)  Sarita is an excellent school teacher. '
(C)  She couldn't believe the premise of the story.

(D} 1 saw Dr. Ghosh because Dr. Khan was on leave.
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90. Whatis not correct if ‘nest is to bird'?
(A)  Hangar is to aircraft (B) Vaultis to money
(C)  Orchestra is to music (D) Wine is to bees
91. The exact opposite of ‘Lascivious’ would mean:
(A) Devoted (B) Chaste (C) Fluid (D) Manifest
92. ‘Repercussion’ would mean:
(A) Reaction (B) Concussion
(C) Recoliection (D) Clever reply
93. to go out to an Italian restaurant tonight?
(A) Do you like (B) Are you liking
(C) You like (D) Would you like
9}/ Excuse me, time please?
(A)  You have the (B) What is
(C) Have you got the (D) What
95,  He likes reading. He was a reader. (Fill in the best fitting word)
(A)  Anxious (B) Enthusiastic ~ (C) Voracious (D) Fervent
g96. | remember my sister taking me to the museum.
(Choose the best fit among the alternatives)
(A) | remember | was taken to the museum.
(B) | remember being taken to the museum by my sister.
(C) 1 remember myself being taken to the museum by my sister.
(D) 1 remember taken to the museum by my sister.
97. ‘To make a clean breast of means:
(A)  Togain prominence - (B) To praise oneself
(C) To confess everything (D) To destroy everything
98. ‘To be above board’ means:
(A) To have a good height (B) To be honest
(C) Tohave no'debts (D) To be beautiful
99.  That which cannot be corrected means:
(A)  Unintelligible (B) Indelible
(C) lliegible (D) Incorrigible
100. State in which the few govern the many is called:
(A)  Monarchy (B) Oligarchy
(C) Plutocracy (D) Autocracy
15
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